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QUESTION 1

Which of the following items undermines the attempts to simplify transportation pricing?
A. rate-basis numbers

B. Class rate

C. Commaodity rate

D. Incentive rate

Correct Answer: A

QUESTION 2

Which of the following facility location techniques is equivalent to a break-even point?
A. Weighted-factor rating method

B. transportation problem model

C. Cost volume analysis

D. Center-of-gravity method

Correct Answer: A

QUESTION 3

A firm offers their customers shorter order cycle times and increased product variety. Generally, this action would have
which of the following impacts on total logistics costs?

A. Increases total logistics costs
B. Reduces total logistics costs
C. Has no impact on total logistics costs
D. Only affects service levels, not costs

Correct Answer: A

QUESTION 4
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A company desires to improve its cash flow situation by postponing its customs duties payment until the last possible
point in the supply chain.

The company should consider using which type of warehouse?
A. Bonded

B. Contract

C. Third-party

D. Government

Correct Answer: A

QUESTION 5

Which of the following outcomes is most likely to occur if safety stock is moved from multiple warehouses to a
centralized warehouse?

A. Dependent demand will increase.

B. Customer service levels will increase.

C. The cost of less-than-truckload (LTL) shipments will decrease.
D. The aggregate cost of safety stock will decrease.

Correct Answer: B
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